N of reco track vs dxy

0.

N of

=20 -15 -10 -5

reco track vs dz

10 15 2
track dxy (cm)

10 20 30

N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy
4] 9] 1%2]
S ] ]
g 8 g
3 g 2
E 8 10 810
=3
=
k=]
10™
10
Y3 — seadieoclnaagt
—EORTHZ3 100
[24 [24 1 [24 O O v . .
- - : osf---r
: : : 0.95F srees N H H H H
0 0886 =15 10 -5 5 10 15 20 %50 -15-10 5 0 5 10 15 20 -20-15-10 -5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] [ of associated (recoTosim) looper tracks vs dz_|
4] %] 1%]
x - X k>4 F--- -
[=} [=) (%)
g g g
g 2 e
E 8 10 810
=3
=
k=]
o i<l il
T g T
o RN 1111717111111 o o
o. L L
10 20 30 -10 0

track dz (cm)

0 10 20 30

track dz (cm)

track dz (cm)

10 20 30
track dz (cm)



	Contents
	Page 1


